
=LPDB����

3UDFRZQLN�5R]NãDG���GU�*DãHFNL�6HEDVWLDQ��7\J������
3

Q

�������������7\J���������
���������������

3RGVWDZ\�ILOR]RILL�GU
*DáHFNL�6HEDVWLDQ�=%�
����� ���$.6�/����:

Z\NáDG�Z�RVWDWQLP
W\JRGQLX����PLQ�

�������������7\J���������
�����������������

3RGVWDZ\�ILOR]RILL�GU
*DáHFNL�6HEDVWLDQ�=%�
����� ���$.6�/����&�

üZLF]HQLD�Z�RVWDWQLP
W\J�����PLQ�

�������������7\J���������
����������������

33���(W\ND�SURZDG]HQLD
EDGDĔ�QDXNRZ\FK�L�VSRá�
UROD�XF]RQHJR�GU
*DáHFNL�6HEDVWLDQ�'(�
���� 6'�-����DQJ���6'�/�
���DQJ�

Z
WR

UH
N

�������������7\J�����

+LVWRULD�LGHL��üZ��
+LVWRULD�LGHL��Z��GU
*DáHFNL�6HEDVWLDQ�'(�
��� ���)�0����:

���JR�VW\F]QLD�]DMĊFLD�Z
VDOL�'(����

�������������7\J������
�����

3U]HGPLRW�GR�Z\E��,�GU
*DáHFNL�6HEDVWLDQ�'(�
��� ���(.2�/���

���JR�VW\F]QLD�]DMĊFLD�Z
VDOL�'(�����

ĤU
RG

D

�������������7\J�����

3RGVWDZ\�ILOR]RILL��Z��GU
*DáHFNL�6HEDVWLDQ�=%�
����� ���)$�/����:�����
)*�/����:

&
]

�������������7\J��������
���������

3U]HGPLRW�GR�Z\E��]
]DNUHVX�QDXN�KXP��OXE
VSRá�� GU�*DáHFNL
6HEDVWLDQ�'(��������
35$�'����:

.U\W\F]QD�DQDOL]D
Z\EUDQ\FK�]DJDGQLHĔ
SUDZD]QLD�]DMĊFLD�Z�VDOL
'(�������JR�VW\F]QLD
]DMĊFLD�Z�VDOH�'(
����U\W\F]QD�DQDOL]D
Z\EUDQ\FK�]DJDGQLHĔ
SUDZD

�������������7\J��������
���������

3U]HGPLRW�GR�Z\E��]
]DNUHVX�QDXN�KXP��OXE
VSRá�� GU�*DáHFNL
6HEDVWLDQ�'(��������
35$�'����:

:\EUDQH�]DJDGQLHQLD
ILOR]RILF]QH�L�HW\F]QH
GRW\F]ąFH�MXU\VSUXGHQFML

SL
ĈW

HN

�������������7\J������
�����

3RGVWDZ\�ILOR]RILL��Z��GU
*DáHFNL�6HEDVWLDQ�'(�
����=%���������)$�5����
:

W\J���������V�=%������
W\G]����V�'(���

�������������7\J����

3RGVWDZ\�ILOR]RILL��Z��GU
*DáHFNL�6HEDVWLDQ�'(�
��� ���)$�5����:

�������������7\J����

3RGVWDZ\�ILOR]RILL��Z��GU
*DáHFNL�6HEDVWLDQ�'(�
��� ���)$�5����:

�������������7\J������

3RGVWDZ\�ILOR]RILL��Z��GU
*DáHFNL�6HEDVWLDQ�'(�
����=%���������)$�5����
:

W\G]���V�'(���

�������������7\J������

3RGVWDZ\�ILOR]RILL��Z��GU
*DáHFNL�6HEDVWLDQ�=%�
����� ���)$�5����:

W\G]���V�'(���VR
ER

WD

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����



=LPDB����

3UDFRZQLN�5R]NãDG���GU�*DãHFNL�6HEDVWLDQ��7\J������

�������������7\G]���

3RGVWDZ\�ILOR]RILL��Z��GU
*DáHFNL�6HEDVWLDQ�=%�
����� ���)$�5����:VR

ER
WD

1

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����


